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In this for instance we constrain him from — 2170 n772 %Y 32212 777 A2
acting in the manner of layTo

OVERVIEW

A son bought property adjoining his father’s property. 727 ruled that he can
demand that his inherited share in the estate should be the field which adjoins his
property. Not to give it to him would be a 0170 n7», since for the other heirs it
makes no difference where their properties are located, and to this son it would be
advantageous to have all his properties (the old and the new) adjoining each other.
mooin discusses the implication and application of 0170 N1 v 1'012.

nooIn asks:
— N8 AR P99 1352157 91922 “NIP TPIVYIN SNNN N29Y PN 135299 N1

The "1 is astounded! According to 729 (that 2170 n ¥ 1915 applies in this
case), why is a o necessary to teach us that we give the =123 his two portions
(77722 PPm vIwd P2) on one boundary (that it should be one contiguous property)?!

N1B0IN answers:
— *PAN /35 RIN 23190 N3 495 113 XOY 595 PN 13539 912IN)

And the >"9 answers; since the ?0p only gave to the 7122 the rights of two

brothers -
— %4192 PN ©NY NNY HWITYY 13999 XY GNNYNY DI PANR 1Y 197 199N)

So if two brothers want to partner (and combine their inheritance) we do not

coerce the third brother to give them their shares together, ’ but rather the third
brother can insist on casting lots for their respective three palrcels.8

' 0170 N7 is mentioned in ("2 7"9) MK 'on that Tow Tow W 9w MR, etc. DITO NTA T DMK WY; meaning that T
only take my needs in consideration, not of my fellow Jew.

% See previous pon 1"7 ' that we derive from the 221w 2 P09 that a 7132 receives both shares X7¥n TN,

? Just as in the case of *w1 >27 XXX XY 121 we give him the adjoining property (for 2170 n7» %y 1o19), the same
should apply to a 7132 that we give him both shares &7%» 71X for 0170 N7 ¥ 1913, The other sons have nothing to
lose by giving him both shares together, and it is beneficial for the 7132.

* The "3 Mt amends this to read; X9X 712 330957 1.

> This would be our understanding if the »05 would not say 21w *», but would rather say Ao 21 or something
similar.

% Let us assume that the estate consists of three equal adjoining parcels; where parcels 1 & 3 abut parcel 2 on either
side. The partners cannot insist that that they receive parcel 2 and the lottery should be whether they receive either 1
or 3, and the third brother can receive either parcel 1 or 3 but not parcel 2. Rather the third brother has a right that
there should be an equal lottery for all three parcels.

7 Similarly T would have thought by 7132 that the brothers can insist that he receive his two parcels separately by

1
TosfosInEnglish.com




722 7"7 ' 2,2° 2"1 .7"02

mooin offers an additional explanation why the 105 of 0°3w *5 is necessary:
—NRIINY 199 NINN 91229 NIV

And in addition; that the ;770 refers to the parcel of the =122 as a gift -
— 9m930 DX 9199 PN B3Y 999 “NNY 29057 (0w PINN YW MINTS

As the X3 states in 72m1 w> P, that it is written 293w %2 ¥ nn% (to give him

double); and we cannot force a grantor of a gift as to where the location of the gift
should be.

mMdoIN responds to an anticipated difficulty:'!
— 9193 NINNY NPT IND ON ) AN

And also according to 2R, if the ;77770 would not have called the 02> a 9123 -
— 1912959 PANY NI 1PN PHN DY YY 017> XPNHNX NN

We would have thought that the verse 1"nx aw % 21> (he should take the place
of his brother)'? means that he should inherit his brother’s share as if he and his
brother are alive."

mooIn offers an alternate solution to the original question (why a P09 is necessary):
— 99NP NN P1I RY P15 N2 9INT XNT Y91 DNHYAN )2 PNYY 19%29)

And the X231 explained that when 7729 ruled '°212', he did not mean that this

is a ;70 law -
— 10911 71992 MNINTI MNIA XTI NIINT 119V mnny 9195 790 1724

lottery; therefore we need the 109 of 0°1w * to teach us that he receives both parcels together.

¥ It will be necessary to distinguish between the case of Xw1 *27 X1¥nX 121 where we do say 2170 nT» %¥ 1913, and the
case of 1R 1w where there is no 0"1y 1°912. One explanation may be that by X7¥»X 127 he already had a certain right
in the adjoining property even before his father died (his father could not sell this property without giving him first
refusal rights since he is a &7¥n 72) therefore we say 0"n¥y 1212 (to retain his rights); however by the 1nX "1 at the
time the father died none of the brothers had any claim on any of the fields and the third brother had an equal right
to the middle field, therefore we do not say 0"n¥ 1913 (to deny him his right). See 25 mx 7"210.

? The word nn* (to give) indicates that this extra portion is a gift.

"9 It seems that since the extra portion of the M2 is at the expense of the remaining brothers; it is considered as if
they are gifting him this extra portion, and we cannot coerce a grantor how he should distribute his gift. The brothers
can decide that the gift should not be adjoining. See v "o n"¥7 "o vVowni M2°n1 and (2,77) 077X NI72.

559X ruled that a D2’ receives his and his deceased brother’s inheritance X% R, since the 717N refers to the 02’ as
the 7102. The same question arises here as well; why is a 109 necessary; we should give the 01’ both parcels 7nX
X1¥n for 0170 N7 9Y 1912, We cannot answer here that 3°>9p 7an» for by 012° there is no mention of 7ann.

12 This oo teaches that the 03° receives the inheritance of the deceased brother (in addition to his own).

" If both he and his [deceased] brother were alive they could not manipulate the other heirs that their properties (of
the 02 and the nn) should adjoin, as Mo just stated (in the first answer to the previous question. See footnote # 6).
Similarly without the 7109 of 7132 the 02° could not coerce his brothers to give him both parcels Xx» T1X.

' Therefore there is no question why a P09 is necessary; for 121 is giving (merely) a rabbinic ruling while the P02
makes it a 770 ruling. See footnote # 21.

"% See 2,20 PwITp that mmn2 mmne 12 The minor heirs can protest at maturity that they prefer their parcel in a
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For according to 710 law the other heir can protest and not allow him to take the
adjoining property for there is ‘preference in location’ as is mentioned in many
places in the x7n3. Therefore n";in we cannot be 7913, since they can always be mmn2 amn —

mooIn offers an additional explanation why 2170 N1 ¥ 1913 here is only 13127772:
— %400 89 AN N3N N3 OYTO N YY 179927 NN T

And additionally this that we are 2170 n7» % 19912 in a case where one benefits

and the other does not lose -
— 99V 19 NYYN IIINY 192N I8N 97 929V 1N

That is only if he lived in his friend’s 937, that he does need to pay rent -
— Yy933 9919 9399 XYY 12 MINNY 919°Y ROSWS NN YaN

However this is obvious that the owner of the property can protest and prevent

him that he should not enter to live in his house -
— 90N K9 A1 13N *NT MINT 991 1Ay KYT NYAN KIIRY KD KT 9803 19%9N

Even in a case where the 9211 is not intended to be rented and the other person

does not usually rent, which makes it a case of =or 8% ;71 7373 [R%] 7%, and the
owner can prevent him from using his property -
— 9197 X90 NP DNRON NIPIN NIN

Rather it is because of a rabbinic enactment that ;729 rules here that 121> -
191923 NP THIVYN INNN 1995 MYDnY P XY
So now there is no question at all why we require the 192 of =122.

SUMMARY

different location (not the one that was chosen for them by their 01917119K).

' The X3 in 3-8, p"a discusses a case where a person lived in someone’s property without permission. The X3
concludes that if the owner has no intention of renting out this place (he is 7on X2, not losing anything by the
squatter living there) then even if the squatter (usually) rents (so he is a 77371), nevertheless he need not pay the rent
(and certainly if he never rents [where he is a 7171 X?]), since we are 0"ny 1°013, for the owner suffered no loss.

"7 Even if we were to assume that 0"ny 1512 is a Xn™IX7 that is only 72¥°72 not to pay, but to initially force one to
give up his rights (to his house, or to a lottery), there is no Xn»K72 0"ny 1.

'® The w"w" amends this to read, 7371 X9 7.

' Here too (by 7122 or by Xw1 *27 X7¥aK 1°a1), the other brothers have a right to a 9; therefore initially they can say
we do not wish to relinquish this right. The only reason we are 0"1¥ 1212 is because of a 1"pn.

0 The reason the 221 were 0"ay 71912 by 721 and not by m~2w (where one may refuse to let anyone live in his
7x¥11) may be that by Mo he is the actual owner of the 7%, and there is not ample reason to deny him the right of
ownership on his property. However by 71w the other brothers have no actual right to any particular parcel, but
rather they merely have a potential right through a . The 2151 enacted that this potential right for 771 must be
relinquished to accommodate the brother who may suffer a loss if there is a 771,

*! See footnote # 14. If it is derived from a 109, then the adjoining parcel legally belongs to the M32; if it is 151
0"ny we require the consent (even through 77°92) of the other brother(s) to transfer it to the 7132.
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There is no 0"»¥ 1913 by a M32 (and a 02°) since (°"1 "n) it is like two brothers who
want to deny the third brother his rights to a lottery, or because 77122 is a 71n»
where there is no 7°912. Alternately (X"2%>1 "n) the rule of 0"1¥ 7°913 (in these cases
of 79nnoY) is only 13127772 and a M2 receives his two portions XN»RTA KX NN,

THINKING IT OVER

1. moo1n finds it necessary to explain why according to »aX we require a 109 for a
02 that he receives both parcels X7xn 71X, and the concept of 0170 N7 ¥ 1D is
insufficient. »°2X shortly maintains that even in a case of X721 X XnNyIX *nn we do
not say 0170 N7 9y Po12; what is mooin difficulty with »ax?!*

2. According to the X"2¥1 are the two brothers able to coerce (j127771) the third
brother to give them adjoining parcels?

3. Is 0"ny 1o a 77N law or a 131277 law?

22 See n"m1 and 13 MR 7"O0.
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